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10.

11.

12.

13.

The smile on my father’s face can always bring to my heart.

A) Weight B) siege C) warmth D) tornado

Our coach us up whenever we face difficulty in the course of training.

A) damps B) cheers C) circulates D) cleans

The reunion party that we had last week is very , and we are all looking forward to the next
time.

A) enjoyable B) previous C) hazardous D) apparent

The young actor with enthusiasm on stage, which brought him several rounds of applause
in the end.

A) drifted B) performed C) accounted D) delayed

To everyone’s , our team did not win the championship in the competition as expected.

A) delay B) disappointment  C) dismiss D) dust

In a restaurant, the waiter brought the drinks we ordered to us on a

A) pan B) bin C) dish D) tray

The building is barely through the dense forest.

A) energetic B) readable C) sociable D) visible

This author likes to his article with a proverb, which enables his readers to learn some

lessons of morals.

A) conclude B) bypass C) oversee D) decide

This well-known fast-fashion  has expanded to over 20,000 stores in 20 countries.

A) chain B) concrete C) alarm D) circle

The child disappered  on her way home from school, and the whole family was anxiously
looking for her.

A) doubtfully B) sincerely C) mysteriously D) hopefully

The Suez Canal is one of the world's most important and busiest shipping waterways. Ships use it
to  goods all over the world.

A) depend B) describe C) transport D) translate

Luckily, the driver was only  injured in the car accident.

A) slightly B) generally C) leisurely D) thoroughly

Only about 20 percent of all dogs and cats that come into the shelter willbe . Many people

still choose to buy animals when looking for a pet.
A) founded B) adopted C) launched D) defined
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14. After years of , Professor Carson gathered enough information to write his book.

A) observation B) chores C) equipment D) symptoms
15. Kevin has a personal trainer to help him get and reach his fitness goals.
A) in shape B) in short C) in case D) in reality
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(1)

Can you imagine going weeks without rain? What about a month? A year? This is what happens
during a drought. A drought could be very critical because wateris 16 an important part of many
of our activities that we cannot live without it. We need water to grow the food we eat. We also use
water for many different things in our lives, like washing dishes, cooking, bathing, and swimming or
even river rafting. When water is not enough because of a drought, we will be 17 . One of the
easiest steps we can take to help lessen the impacts of drought 18  to conserve water. If we use
water wisely at all times, more water will be available to us and to plants and wildlife when a drought
happens. However, we can lose a lot of water doing simple everyday tasks. Do you know that turning
off the water 19 you are brushing your teeth can save more than 100 gallons of water a month? If
you have a leaky faucet, the drips can add up to 300 gallons of water a month. So, take action because

conserving water is everybody’s responsibility and we can no longer take water for 20 .

16. A) so B) such C) at D) just

17. A) off limit B) by mistake C) in trouble D) at large
18. A) has B) had C) are D)is

19. A) while B) until C) unless D) so

20. A) granted B) something C) nothing D) sure
(ii)

Deep in its rain forests in Papua New Guinea, male birds of paradise gather. Their colorful
feathers shine in the morning sun. They 21 a repetitive, piercing sound to let females know they
are around. They are well known 22 their showy mating habits.

One example is the male Superb bird of paradise. He totally changes 23 he looks like to get
noticed. First, he fans out his black tail feathers. A few bright-blue feathers stick out. Then, he starts
dancing around. He clicks and snaps his tail, flashing his bright-blue shimmery feathers. The male's
dance moves may seem 24 |, but they are carefully planned. He is trying to win over a female. He

keeps trying 25  she is interested.

21. A) let out B) give away C) take off D) put on
22.A)as B) by C) for D) to

23. A) how B) when C) what D) whether
24. A) famous B) popular C) empty D) random
25. A) until B) therefore C) except D) although
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A) fast-paced B) with C) whether D) personality  E) into

Is your glass half-empty or half-full? When you discuss this age-old question about positive
thinking, you are determining your outlook on life. It also indicates 26  you're optimistic or
pessimistic. Believe it or not, it also affects your life. According to many studies, 27 traits such
as optimism and pessimism can affect one’s life in a way that people may not be aware of. Therefore,
inthe 28 modern world, the positive thinking that usually comes with optimism is an important
part of effective stress management. On the other hand, if you fit 29  the category of pessimism,
do not despair because there are ways for you to learn some positive thinking skills. Having a positive
mind enables you to cope better 30  stressful situation, which reduces the harmful health effects
of stress on your body. That is why experts state that positive and optimistic people tend to live

healthier lifestyles.

(i)

A) aimed at B) choice C) especially D) lead to E) instead

For years, adults have been trying to get kids to drink fewer sugary drinks. They have focused
_ 31 onsoda. Sodas, like Coke and Pepsi, have quite a lot of sugar.

Kids are not drinking as much soda these days; 32 | kids are drinking more sports drinks.
There is one problem. Those have lots of sugar, too.

There are many ads for sports drinks. Many of the ads are 33 teens. They show sports stars
having the drinks. The ads make sports drinks look like a healthy 34 .

Sugary drinks are one reason why many people in the U.S. are obese. Obesity is when a person
has too much body fat. Having too much body fat can 35  health problems later in life, like heart

disease.

e~ RAF PR FEFEN - BERFEPER(FEIAL £ 154)

In 1896 Charilaos Vasilakos won the first modern marathon. He finished the race in 3:18.
Vasilakos' time won him a place on Greece's Olympic team. However, today he would not even be
allowed to run the Boston Marathon. His time is too slow. Over time, athletes have become stronger
and faster.

One reason is that we understand more about fitness and nutrition. This helps people become
healthy and strong. Other reasons are related to world events. For example, few records were broken
during World War I and World War II. During a world war, you do not care about sports. After World
War 11, things changed. There was very strong competition between the United States and another
country, the Soviet Union. Many world records were set at that time. The Soviet Union worked hard
to train its athletes. Soviet athletes were given drugs to make them strong and fast. Some records set

during that time have never been beaten.




New methods have also helped athletes. One example is the Fosbury flop, which allowed athletes
to jump higher than ever. At the 1968 Olympics, Dick Fosbury changed the high jump. He tried a new
way of going over the bar. At the time, high jumpers faced down as they flew over the bar. Fosbury
turned his back to the bar when he jumped. Then he would land on his back. Fosbury won the gold
medal. He did not break the world record, though. Years later, athletes used the flop to break world
records.

Scientists believe it is harder to break records now. People are reaching the limits of what their
bodies can do. Nowadays, athlete groups erack down on drug use. We may need to get used to the

records we have.

36. What is the main idea of this passage?
A) World records are getting much harder to break.
B) Wars make athletes perform better.
C) Athletes today don’t try hard to break records.

D) The Boston Marathon attracts more and more runners.

37. What is NOT mentioned as a reason why athletes become faster and stronger?
A) The effect of world events.
B) More knowledge about fitness and nutrition.
C) New methods to help athletes.

D) Research and development of new drugs.

38. Which of the following statement is TRUE?
A) Soviet athletes failed to break records under great pressure when competing with American
athletes.
B) Charilaos Vasilakos once jumped the highest in the world.
C) Soviet athletes cheated in sports by taking drugs after World War II.
D) Fosbury broke the world record by trying a new way of going over the bar.

39. What does the phrase “crack down” mean in the last paragraph?
A) To come up with new ideas.
B) To deal with illegal activities forcefully.
C) To stay away from something dangerous.

D) To suffer from something unpleasant.

40. What can we infer from the passage?
A) During a world war, sports are not people’s major concern.
B) Athletes of the past had better sports performances than athletes today so they broke records
easily.
C) During World War I and World War 11, athletes stopped playing all sports.
D) Before the 1968 Olympics, high jumpers didn’t face down as they flew over the bar.
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1 2 3 4 5 6 7 8 9 10
C B A B B D D A A C
11 12 13 14 15 16 17 18 19 20
C A B A A B C D A A
21 22 23 24 25 26 27 28 29 30
A C C D A C D A E B
31 32 33 34 35 36 37 38 39 40
C E A B D A D C B A
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